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M4U2: Chemical or Organic Farming

Para.1 : introduction chemical fertilizers
T —) (welcomed but harmful)
¥
Para.2: problems problems caused by chemicals
== | (damage the health of people and soil)
Para.3: solution \ 4
——)
organic farming (definition, benefits)
Para.4: other solutions 3
——

other methods to keep soil fertile

M3U4: Communication : No Problem?

Para.1 : background Meet international students at the
EEE—— q 5
airport (watching them)
¥
Para.24&3 problem-noticing Some major misunderstandings of their
— greeting body language
¥
Para.4  Problem-analyzing Not all cultures greet the same way
(examples)
¥

Para.5 Problem-solving

1 .not good or bad
EE——

2. studying international customs

You must do the thing which you think you cannot do.—Eleanor Roosevelt VAT BN F
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Group words can indicate the main idea.

* Like any other facility, keeping a school open requires a great deal of
money-Keeping school open in the middle of summer requires air

conditioning, and that adds significantly tocthe school’ s expenses.

Besides, teachers must be paid for all the weeks hey are working. For

example, a high school in Arizona had@ cost increase of $157,000

when they switched to year-round schooling. Some schools may not

be able to handle stch increases; and other schools that can handle
these expensescould be doing better things with the money.
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3551 ( Signal words ) , BUXEEM

ER - BEEED AT FZENXR

f5Ign - first , last , but, however, for example, besides, therefore, in conclusion ,
on the contrary, meanwhile, on the one hand, on the other hand, some...
others..., consequently, ...)
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Relationship between sentences in a paragraph \/

« The biggest factor in short-sightedness is a lack of time
spent outdoors.

« Exposure to daylight helps the retina (#i/f&) to release a
chemical that slows down an increase in the eye's axial Y
length, which is what most often causes myopia (¥r#L). explanation

Topic sentence

+ A combination of not being outdoors and doing lots of work .\/
focusing up close (like writing characters or readinalwarsens -
the problem. further information

« But if a child has enough time in the open, they can study all
they like and their eyesight should not suffer, says lan
Morgan of Australian National University.

further explg?lation

You must do the thing which you think you cannot do.—Eleanor Roosevelt VAT BN F
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Signal words may help to locate key details.

| 31 RulesB{EAEEMTSEIBESR |
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Relationship between sentences in a paragraph

Vv

Topic sentence

* The biggest factor in short-sightedness is a lack of time
spent outdoors.

- Exposure to daylight helps the retina (#if&) to release a
chemical that slows down an increase in the eye's axial
length, which is what most often causes myopia (I#0). explanation

+ A combination of not being outdoors and doing lots of work
focusing up close (like writing characters or readinalwarsens -
the problem. further information

« But if a child has enough time in the open, they can study all
they like and their eyesight should not suffer, says lan
Morgan of Australian National University.

further explanation

You must do the thing which you think you cannot do.—Eleanor Roosevelt VAT BN F



